(@) Given thal x>0, show (hat
log,. (.r") =nlg, x. 31

{5) Solve the equalion

giving your answer correct (o four decimal places. B, o4
' June 2006
(a) Given that x>0, y> 0, show that log, {xv) =log, x +log, ¥ [3]
(b) Ezxpressiog 36+= I 300 256 - 2log, 48 as a single logmiﬂm. 43
(¢} Sclve fhe ::quatioﬂ
f}is—i 5
giving vonr answer correct to three-decimal places, [21
Jan 2007
{a) @ Giventharp>0, g >0, show that oz, pg=Iog LD +log,
{1y Given that
log, x+log (3x+4) =2 log, (3x—4), where x> —3-
fnd the value of x. 8]
(b) Sobve3*=11, giving your answer correet to three decimal places. 21
June 2007
{a) Giventhatx> 0, v>0, show that
}'Dgc l 5= }Oga X E'Ogs S J [3]
:)?

{b} (1) Solve the equation
F e

ZIVING ¥OUT answer correct to three decimal places.

(1) Express ‘%]oga 16 +log, 6 -2 log, 12 as a single logamithm in its simplest form.  [7]
Jan 2008
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